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Forms of Linear Programming_4sbill 4as il s
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ST G5 ) Maximize (max) ) aies L) A1 o3a (685 Gy ciogd) A0 1

Minimize (min)
(2) 5 (2) S (S) Ble il (< BB g (lddaa) 398 -2

X1, X2 ) werennD) il 23
AU snally Ldaly ;) Audadd) daa ull A Lina iy g

General Forms dalad) dipall -1
Canonical Forms i gAY dagall -2
Standard Forms Al dl ) -3

General Forms 4l daual) -: Y o)
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Max Z = c1X1 + C2Xao+ . . ..

&

0 KL §
OR MinZ=cixs+c2X2+.... —=—

aixat+axxe+... 2,5 < b, S.T.

asXi+asxa+....

2,=,< b2

anxi+an+1xx+....
X1, X2, .... 20
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Ex1: Write the following Linear Program by General Form .

Aalal) dasall a4 Adadl) dga ) IS

Max Z=4X1+6x:2

s.t.
3X1+8X2 <10
6 X1+ 10 X; =20
X1—-10X> 280
X1, X2 20

: Jall
LaS i Allcal) 03¢t dalad) ddsall (8 oda 1A Allccal) 0da Ao (adali dalal) ddsall &) jraa 0 A3adle

¢l R
Max Z=4Xi+6Xa
ST. 3X.+8X» <10

6X:+10X =10
X1 - Xz 2 80

X1, Xz 20



Canonical Forms 4 ¢\l diual): Lils
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Max Z=ciX1+C2X2+...

S.T.
A1X1+A2X2+. . . < b:
a§X1+a4X4+'. 0 0 S b2
anxi+an+«1X2+... <bn
X1,X2,... =20
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Ex1: Write the following Linear Programing_by Canonical Form.

Max Z=6x1+5x>

s.t.
X1 + 8x2 210
2x1 + 3x2 =5
6 x1 7x2 S15
X1 UNRESTRICTED
XzZO



Max 2= 6(y1—yz)+5X2 Jall
S.T. -(y1-y2)-8x2 <-10
2(y1-y2)+3 x2 <5
-2(y1-y2)-3x2 <-5
6(yi-y2)+7x2 =15
Y1,Y2,X2 <0
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Max Z=cCiX1+C2X2+...
or

S.T.
diXi+d2X2+. .. = bs
asXi+dgX2+. .. = b,
anXi+an+1X2+... <bn

X1,X2,... =20
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Ex1: Write the following Linear Programing by Standard Form.

Max Z= 10x1:15x;

S.T. X1 + 5X2 =15
3x1+8x2 220
5x1+9%x2 <30
X1 unresected
X2 20

Max Z= 10(yi-y2)+15x:

S.T. (yi-y2)+5x2
3(Y1-Y2)+8 X2-11
5(y1-Y2)+ 9X%X2+51
Y1,Y2 ,X2
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il gaiall Baa gl) Bas gl [ 48K A Cy,....,C3,C2,C1
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a2 Xi+a:Xa+....+421mXnsb1
A21 X1+322X2+....+22mXn=b1
a31 Xa+a32Xo+....+23mXn2b3

Xn, X2,X1 €I piiall by daaal) dad ha addiuy e ldla A @in,az,a11 O S
() A8ad) i 3 ) gal) Ladha (S0 g Allaal) (o Lpani g T Aaga >, =, < cilaaaal) 5 L) o)ld 12

dag) ) 5 ghadll
P NS g Al AB0ay Tae 3 gl g Cingd) A0 Jay ) Ay a1 5 gladd) B
Max Z=C1X1+C2Xz+....+CiXn
Or Min Z=C1X1+C2Xz+....+Cn Xn
S.T
a1 X1+a12Xo+....+Q1mXns
=b,
2
X1,X2,..,Xn20 oSliandd) 48 giuany e XYY
Max Z=C1X1+C2X2+....+CnXn

Or Min
S.T

aml X1+am2X2+....+aman S
=bm
>
X1,X2,...,Xn20 )
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Ex1: Iraq co. produces two products A,B by using two types of Raw materials M1,M2
table shows some information Formulate the problem by LP model .

Usage of raw material to produce one unit Raw
Material of product material
Product B Product A Available
M1 6 4 24 units
M2 1 2 6 units
Profit per
unitp >5 >4
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M2, M1 4l 931 3 gall (e Ce g aladiady didg A, B Clailall (ha ¢ g5 L a0l Lelial) (31 ) AS i
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Xi= A Balall (e dpiiall cilaa gl dae <l pdiall delua (1
X, = B 83lal) (pa dadial) cuaa gl dae

Max Z = 5X1 + 4X>

15

gl Al delua (2
2548l dflua (3

g N gall 258 @
6X1+4X2524

X1+ 2X2<6

A d3Lal) Glﬁ\ 49§ °

X152

W\e& 43'43 Y

X1,X220

Then Max Z = 5X;1 + 4X,
S.T6X1+4X><2
X1+2X2 <6

X1 £2
X1,X220



Ex2: Accompany produces 3 product by using 3 machines m1,m2,m3 . time available for
produce these product and profit for each unite of product are shown in the following
table Formulate this Problem by General .

Time required to produce each product (hours) Time
Machine available

Product 1 Product 2 Product 3 hours

M1 6 - 2 400

M2 4 5 - 500

M3 3 6 4 600

Profit for each unit
of Profit product ?5 >4 >7
s (AU JEa)

538 (e Baal g Baa g ZUIY 4 P CB gl m3,m2,m1 Gilse 4D aladiuly dlld g claile M alual A4S Hd
c AN Joandl B dauin ga cilaiiall 038 (pa Baa glf Bas o) g B giall B gll g Cilaiiall
L Aghad) daca ) aladialy Alleal) A8 a1 cplhaal)

sl (Aol gilall (pa Baal g Ban g ZUY a DU B gl i) gl
3 gl 2 gl 1 il
M1 6 - 2 400
M2 4 5 - 500
M3 3 6 4 600
daal gl) Baa gll 7z S5 sS4 S7
: Jall

Xi= 1 il e @il Al Clia gl aae @l ital) delua (1
Xo= 2 giiall (e gl Al Glas gl axe
X3= 3 gilall (e il Al clas gll axe
Max Z=5Xa+4Xz+7X;  <isgd A dslua (2
laaall lua (3
6X1+0X2+ 2X, < 400
4X;+5X2+ 0X3 < 500
3X1+6X2+ 4X3< 600
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Then Max Z = 5X1 + 4X2+ 7X3
S.T 6X1+ 2X5 <400
4X,+5X>< 500
3X1+6X2+ 4X3< 600
X1,X2,X320

Ex3: Accompany distributes its product from three production branches to two sales

centers.
the following table shows some information .

Sales Center 1 | Sales Center2 | Supply
production branch 1 $3 $2 100 units
production branch 2 $4 $5 150 units
production branch 3 $6 $7 80 units
Demand 180 units 180 units
- GullEl) SUial)

ANEY g g Al Aaliny) ABUY) | aall 0 S s B Lt Aagl g g 8 A B Amieaial) Wgilaiia ) s o 955 AS )
5 a8 Alagiua) B (e 5055 180 ) IS sall dglaficay) A8 | San 5 100,150,80 s o

c AU Jgaadl B Aoz ga adl 381 pa ) £ g AN (e Ban gl Baa gl JAIN 48NS | Ban g 150 AL Al
- Apbadl) dava lly Allsal) A8 la 1 gthaal)

1) S 2 &l Sy

1 ALY g Al $3 $2
2 ALY g Al $4 $5
3 ALY gl $6 $7

s Jad)
Xi= 1 38Ssal 11 £ AN e JAE Al Claagll aie @l pitial) d8Lua (1

Xa= 2 JSall (A2 & Al Cpa JA Al Slaagl) aae

Xz= 3 JSuall (A 3 £ Al e JAE Al Claagl) s

Xa=4 XSpall (4 g 8l e Jili Al Slaagll 3

Xs=5 Sl A 5 g 8l Cpe JAI Al claagl) axs

Xo=6 Sl (A 6 g8 (e Jai Al Slaagll ae
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Min Z = 3X1+ 2Xa + 4X3 + 5Xa+ 6Xs + 7Xs il Al Aelua (1
laaaall Alua (2

X1+ X2 €100

X3+ Xa £ 150

Xs+ Xe <80

X1+ X3+ Xs <180

X2+ Xa+ Xe <150

Min Z = 3X1+ 2X2+ 4X3 + 5X3+ 6X5 + 7Xs
S.T

X1+ X2 <100

X3+ Xz €150

Xs+ X6 <80

X1+ X3+ X5 £180

Xo+ Xa+ Xe £150

X1,X2,X3,X4,X5,X6 2 0
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Lh (X1, Xz) Qe Cpaali (Al dahadl) daca pll Jibesal) Ja A& 48y jhal) 034 aadied -; daadla
A8y jhal) o ga g ALY ALY

Solve the following linear programming problem by Graphical method

Max Z=4x;:+5x;
S.T.
3X:+2X,  <6... 1
8X1+4X> >8 . 2 il
X1, X2 20...

3581 el Uiy g 3 9810 B L) pladly lld g 4 glucia c¥ e ) 3580 4818 Jead -1

3X1+2X2 =6... 1-‘,—.‘“‘
8X1+4X> =8... 2 a8l

Saxl e pan il dll g Aalaa JSI il callaly Ailaa of and Cua coda ENabal) any =2
Xp 2y e = X; (8 pagad dld dgg X, g

3X1+2X2 =6... 1
Xi=0==) 0+2X,=6

2X2=6

X2 =6/2=3

(0, 3) & (¥ A
X;=0mm) 3X;+0=6

3X1=6
X1 =6/2=2
(2, 0) A AHEN Lkl
8X1+4X2 :8 2

X1=0m=) 4X,=8 =) X,=2 (0,2)
X;=0m=) 8X;=8 = X;=1 (1,0)

AU JSa A LS albeal) ey o -3
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S
4
2
1
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0 1 2 3 4

Alld Sl g a8 JSI J galall olady) dasd -4
. ((0) dua¥t Adai ity J gbal) sl (8 () (o gbous ) JB BN 5 L) S 1Y o
LaS Jua¥) Adalil (5 AY) dgadl olaily J sl slai¥) (8 (2) gl o) S S8 3 LE| CilS 1)) o
Al an ) (A il ga 92

JALASJJ#\;E&Z\JJ#AQJSS&JUA*@\QﬁﬁJ}M\M\@JJ},&\MJ& -5
el (B s

»1

’c’b’abGﬂ\cﬂﬂoﬁ&i?uj\gﬁMthghJJ&\MQ‘

(b s LS g iagll Alla Alalaa (8 X, , Xy as i gad ol g s 1) (e AJal JSI X, Xy oo 225 -6
A J gaad)
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Al

X1 X2 Z = 4X1+5X2
A 0 2 10
B 0 3 15 === Max
C 2 0 8
D 1 0 4

-

Z3dad o) e mily Al A b Al o

58 JiaY) Jal) o
X1=0
X2=3
Z =15
Z\.haﬂ-n

Ska = Xy dad G X, psaall e Al 6] -1
F:szoﬁleﬂ\u}sM@i

cZJAad B e mah AN A JiaY) el gde mily A Akl o8 Min A <ils 1y -2
G5 OIS 19 Xp ssaall o L gas (o sSm A (18 Jadd X1 e o (g giag 38l QSN 3
Al ALY g X1 Jgaell Ljisa ) X sna o Lages (1S 381 (U8 Lo X, e o

, dlli gda g5

Solve the following linear programming by Graphical method

22



Max Z=8xi1+6x2

S.T. 10X; + 15X, <30
X1 <2
X1, X2 20
=1 Jad)
10X1 + 15Xz =30... 1
X1 =8 ... 2
Lt Jaids
o
10X1+ 15Xz =30

X1=0 mmmpX,=2 (0,2)
X2=0 mmmpX;=3 (3,0)

S Al Jalds
X1=2 (2,0)

CGalad) dﬁ'\.d\‘;éc"_abki.“ G g J o280 Adlata dast SUAC g a8 ST § gaiall slad¥) daad g e alaall i i

dall Jgan «
ALadil) X1 X2 Z = 8X1+6X2
A 0 0 0
B 0 2 12
C 2 2/3 20 = ),
D 2 0 16
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: AY) Ay plally ABAT) o3n B adalRE A ¥ alaal) Jag el € AL B Xy, Xy Shaal A piliasle

10X1+15X2= 30
X1 =2

I L8l B Ll Gl gt oy Jha =Xy o

10x 2 +15X2 =30

20 +15X2 =30-20

15X2 =10
10
X2 =5 " 2/3
(2,2/3) & CAkid) A& X,, Xy ad O sl
JiaY) Jad) o

X1=2

X2 =2/3
Z =20

24



Solve the following linear programming by Graphical method

Min Z=3x1:2x;

S.T. 6X1+3X2 <18
X2 <2
X1, X2 20

6X1:3X, =18 ... 1
X2 =2 ... 2
41 Al
6X1+3X2 =18 ... 1
X1=0 mmm) X,=6 (0,6)
X2=0 mmm) X;=3 (3,0)
A

X1=2 (2,0)

Ceal) ) ghal) Caea g () 5280 Alaia daa SIS g 48 < J gilal) oo i g cialaall an yix

25
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ALl X1 Xa Z= 3X+2X;
A 0 2 4 _ Min
B 0 6 12
C 2 2 10
6X1:3X2 =18 ¥l Jag € Adaki o
X2 =2
T2 = X (5 ol o
6X1+3x2 =18
6X1+6 =18
6X1 =18-6
6X1 =12
X1 =2
(2,2) A CAE
Min = & 41
JiaY) Jadl A g Adaki
X1=0 2 Jall
X2=2
Z=4



LAl Ay A Las cd gl JLatid) Jal (e lldg il ghdll (amy Jlaild) ¢Sy sidiadie

solve the following linear programming by graphical method

Max Z=4X;+5Xz

S.T. 3X1 + 2X2 <6
2X1 + 8Xz <8
X1 , X2 20

-0 Jadl

A g8l Jalas
3X1+2X; =6 (2,3)

2X:+8X; =8  (4,1)
LaS g Xz 4 aadg Jhia =X (8 pag g Xy 4ad €5 e =X, (5 R Sl iliadl
odle | Jaldil) Las g

X2 1 ol Aikaie daag aw
3
2
2
Jsall Aihts —)
W piha gy \4\ X1
3 ga81 olady
dJadilf Z = 4X1+5X;
A o o 0
B 0 1 5
C 1.8 0.6 9.4 =
D 2 0 a4
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Onilalaad) Jag Laas € 48] o
3X1+ 2X2 =6 ( A9 Aaleal) Gua )
3X1 + ZXz =6

12X14 8X2 =24
+ 22X + 8X> =48

ok

10X, = 15= X,= 16

10
A Aldaall b Xy 08 o saily

2 % 16 +8X, =8
10
32

To + 8 X2 =8
3.2 + 8X; =8
8X2 =8-3.2
8X2 =4.8
X, =3=06
(1.2,06) 51 (1, 0.6) & C Ak
= JEaY) Jadl o
X1=1.2
X2=0.6
Z =94
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- al3aMa

G gl J8I (S) ABle il (ciladaall) 3 gall) cuils 1) s 8 48 jhal) o34 22355 @
S) gl Cpatia &) pdiall d3e @

Solve the Following Linear Programming Problem by Simplex method .

. ooShaandl Ly o pladiody Al el A ) Allsa Ja
max Z=5X; +X;
ST. 4X;+6X, 12
X1+ X2 <20
X1,X2 20

AN el dgad) a5 4 glacia c¥alea ) Lgds gait cilaaaal) ) Sf 3385 &l e ABL) ol -1
sl Agall ) chagl)

max Z-5Xi1-X2=0
S.T. 4X; +6X2 +S1 =12
Xi1+X2 +S; =20
X1, X2 20
iShiand) Jgaa dgle gl Jgan B Allsal) alats o1 22

Ll e ol
\

[ \
_ Xi| X2 [ S1 |S2
z|-5|-1]0fo0ofo &
3 sif4|6|1]0]12 } =
5 2|1 1]0]1]20 S %
S dailiad (g AN Jgaall Jeaall 138 o gllay Cua
Ll i) ol @
S1=12
S2=20

@MY\Q\JM\CMuaﬁJeMJﬁm:XZ,XlﬁﬁgyJM:zM °
SR Jadl e Juaad o) (A Jadl Gaal aly (bl 138 e g

S g A ga 7 diia A adl) 8IS < Ladie JiaY) Jadl o Jaad max ciagdl A A b
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S g Al 7 diia A adl) A8US ¢ 65 Latie JiaY) Jad) e Juand min call A D 4 2

Jadl Gpald &) glad
<
. .
-y\> \ \J/
\ ‘1 Xz S1 Sz
7 Zlslalololo /12/a=3 \
« S:[ 4| 6] 1] 0120 20/1=20
S2| #1 N1 | 0| 1]20

7 .

P e . .

) Al odle) (uSliacd) Jgan (8 -1

AN diia & Ldlu dad i) dlalaa oY Xp itial) Alaial) 02a g Jadly AN pial) LS8
max L=<l g aagl)

o5l 3ganlly Agle (3l X; Allecall 038 a9 9 JAIA il dgee -
5 20 ¢ 12 (A Al Jall 39a8 asd anudl oy Cua (S 91 Sp Lal) Jad) (e A il aad 7
L iy A ga Jad) (e oAy @ el () Gun 1 < 4 (A (Allg g saall dgard) ad
gosnall dgant) ad to Jall 3 gae ad dand Juala
3 (59l Al g danidl) Juala JBL ¢ 8 (Y Sy o Allesal) da B Jal) G g AN il
L GuSliam g 9S8 -2

X1 @ Sq JIatied by Jhal) A8 JAlal) il g A padel) Jades j
%JM‘M‘&;M&S\SM’#@J\W‘& 43L§J9= HS\ " S‘d:.'. .-‘T'

igmad) 138 G paal) (5 ) gaall Ciuall o
(4610 12)4
1 6/4 1/4 0 3 =gl X
Sy L ghuall Ay Jadind -z
(il Cinall ) = Saad) Cial)
o5l Ciual) B 353 sall ardll) Ciual) Jalaa) * (2l (5 9aal) Ciiall) +
B L) Sy (agadl)
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}}\ ))\ Jipead) 13t maal) Giagl) Ala La

P »
9&) __b& \
' (-5 -1 0 00)

5) (1 6/4 1/4 0 3)+

o8 A il ol el

oS g HJ&]\ Lﬁ)};ad\ Caall
5Ly

v

((5*1-5),(5*6/4-1),(5*1/4+0),(5*0+0),(5*3-0))
(0,30/4-1,5/4,0,15)
(0,30-4/4,5/4,0,15)
(0,26/4,5/4,0, 15)
el 133 D) Y i

(1 1 0 1 20)
(-1) (1 6/4 1/4 0 3) +

0, -6/4+1, -1/4+0 , 0+1 , -3+20
(0,-2/14,-1/4,1,17)

i Jod a3 -3
X1 | Xz S1|S:
Z| 0 |26/4|5/4| 0 |15
X:|1|6/4|1/4] 03
S2( 0 [-2/4]-1/4| 1 |17
Ol Aallas agd el Ciagd) A3 Ciua b cails 13) Ala 8 A8 L) Jad) aeal <l ghad Bale) aly
min 4l Qb dga ga HE Crancal agd) ) Ll ﬁ'é il 131 Adla géj max 4l
max <iagdl s 0l g siua g) i ga ciagd) Ao & Cdlalaall gl adll) 43S & Jgand) 138 e BaadlS

2

Jia¥) Jad) o

X2=0

Z=15
Al @l ptall e Baga g it e ha = X, dad ; Adiada
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Solve the Following LP Problem by Simplex method

max Z = 2X1 + 4X;
S.T. 4Xi1+6X2 £24
X1 <8
X1,X2 20

max Z-2X:-4X>=0
S.T. 4Xi1+6X2+S1=24
X1+S5,=8
X1,X2,81,S220

Xi| X2 [S1 |S2
Z|-2|1-4]10)]0]|0O0
s;/ale6 1072
S21 1 0 0 1|8

X1 | X2 | S1 |S2

Z|2/3] 0 |[4/l6]| 0 |16

S1/2/3] 1 |1/6| 0 | 4
S| 1 0 0118

(2 -4 0 00)
(4)(2/3 1 1/6 0 4)

2/3 0 4/6 016

maxghZﬂ\ﬁ\ai\;p/%@yghz@agé&m&d\&ls <

33
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X1=0
X2=4
Z=16



Solve the Following LP Problem by Simplex method

min Z =5X:1+ 10X;
S.T. 2Xi+6X; <12
X2 £7
X1,X2 20
N
min Z - 5X1+ 10X2=0
S.T. 2X1+6X2+S:1=12
X2+S=7
X1,X%X2,81,S. 20

(510 0 0 0)
(-10) (1/3 1 1/6 0 2)

sf2]6|1]0f1 -25/3 0 -10/6 0 -20
Ssfol1]of1]7

S, ua
010 17)
(1) (13 1 1/6 0 2)

X1 Xz S: Sz
Z|-25/3| 0 |-10/6| O |-20
X2 | 13 1 1/6 0 2
S:| -1/3 0 -1/6 | 1 5 -1/3 0 -1/6 1 5

min & Z A oy sha [ Adla A& 7 cBlalas LS o
JiaY) Jall o

X1=0

X2=2

Z=-20
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Solve the Following Linear programming Problem by Simplex method

min Z=X:-4X;
S.T. 3Xi1+4X; <12

X1 <6
X1,X2 20
uSliandd) 48y jha aladindy Audadd) daca ) Jilesa Jad il ghadld) udd aii d3adla

osd
min <iagl) )y o

JiaY) Jal) A Guad o ) < ghadl) udly patead g A g 5L St ld Jaldly JASal) pddal) AT o
min A Y Jda o) Adla ciagl) Ay Ciua B (Claleall) adl) 4318 () 4S5 Ladic

AN
min Z-X:1+4X>=0

S.T. 3X1+4X2+S5:=12
X2+S,=6
X1,X2,81,52 20

X1 )_(z S1 |S2
zZ|-11)410]010 12/4=4 \
;3] 4]1]o0]1
s;f1]o|of1]6e
X2 | 2] s: |s i) gl
1 2 1 2 X1=0
z|-161a] o [ 1 [ o [-12 -3
X,| 3| 1| wvalo] s 2=
s2] 1 |o| o |1]6 £=-12

Laal) ciagd) A Cia

(14 0 00)
(-4) (3/4 1 1/a 0 3) +

1I

(-4*3/4-1) , (-4*1+4) , (-4*1/4+0) , 0 ,(-4*3+0)
-12-4/4 0 -1 0 -12

-16/4 0 -1 0 -12
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S Al da

(1 00 16)
(0)(3/4 1 1/4 0 3)

(1 0o 0 16) LY At ¥ adll)
A * Ay g paa
Solve the Following Linear programming Problem by Simplex method

max Z=5X;+3X;
S.T. 6Xi1+6X; <12

X1 <4
X1,X2 20
ga
max Z-5X;-3X;=0
S.T. 6X1+6X2+S:1=12
X1+S:=4
Xi| X2 1S1 |S2
Z21-5]-3]10]010 12/6 =4 &
S21 1 0 0 1| 4

X1 | Xz S1 S

Xi| 1 1 1/6 | 0 | 2
S21 0 -1 ]|-16| 1] 2

0
(51 11/6 0

0 25/6 010
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10 0 114
(k1)1 1 1/6 0 2
0 -1-161 2
JiaY) Jad)
X1=2
X2=0
Z=10
Solve the following linear programming problem by simplex method
max Z=2X:1+4X;
S.T. 8Xi+2X; <16
X1+X2 £20
X1,X2 20
1gal
max Z-2X:-4X;=0
S.T. 8Xi1+2X2+S1=16
X1+ X2+S2=20
X1 | X2 1S1 [|S2
2/-2|1410]010 16/2=8 &a
s/ 8| 2[1]0716 20/1 = 20
2111 1 0|1]20
X1 | X2 | S1 Sz
Z| 14| 0 | 4/8 | 0 | 32
X:| 4 1 1/2 | 0| 8
S2| 3| 0 |-1/8| 1|12
2 4 000
(4) 4 1180 8

14 0 4/8 0 32
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11 0 120
((1)4 1 1/80 8

-3 0 -1/8 1 12

JiaY) Jad)
X1= 0
Xz =8
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Audadl) daa ll JiaY) Jadl oy 5 <l M Al

G ot g) (=) A ld clasae Aluwal) cilaal 13) Ula B 48y jhall 034 andicd 3 Adadla
(2) sl

Jia (2) oo ) S ABe Cld Ciladaa o (g giad Al Ll ¢ 4S5 Ladie

3X1+ X2210
4 gladia ABMe ) daaall Jra i Al Ly (SHl g Al) e g kel Ul L b gl
3X1+ X2—-L1=10

St (g 5 X, X &) GRS G AN Jad) Jpin by (ullaacd) By alaiiad tis g 13
0+0-L,=10
-L=10
L]_: '10
Slibal e Bla) G Al sda & 3 | L g il piiall G980 ) g A (San i g
AU JS aanal) ¢ S 13 ALSEa) 038 (o QalAIN A A Ja g
3Xi+ X2—-L1+A1=10
(=) 48le cld 38 Ll Gl 1) A A g

5X1+6X2=10
Sia (g gl Xz, X1 Al (AN Jad) Jgaad) un g
aaaal) 13gd elikual pitie d8la) oy 1M (Saa & 1389 10=0 0+0=10
5X1+6X2+2=10
<l pita o (g giad Al g Jilwal) 038 Jia Jad (uSliand) 48 jhal Ay 48, pks sl cullaly 1Y
c RS M ARk o okl o (e g s Uikaal
OSan Ay (arl) Siiay L Jia dadiy M 08 G i)l S M ARy sk aladia sie 7 ABiadla
Jall Jon A M AN 7 ded il 1)) Ala 3 lld Qi adg Sl Ja Adlsall (984 Y B &l
dad )9 138 5 uS M AN JBN e ) o) M AT Aad culd Al <l paciall aa o gl JiaY)
O ey 30855 Y g 1aa B S M
RS M Ak aladily Al dodadl) daa ) Allewal JlaY) Jadl 2 g 1 JUia
MinZ=4X:+ Xz
S.T
31+ X2=3
4X1+3X22 6
X142X2< 4
X1,X220
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;&) ghadl)
= ABal) culd 28l M A; slikal e ddla) oy L1
> ABlal) ) 38l (e |y Al e gk A, Slkual e AiLa) ol 2
< A8all < 48N NS, Sy e lileal e diLa) &4 3
Az, A & gial) £ kg min g 68 ciagl) A M Lo 33 (A, A1) & sidiall AL o4 4
max & s gl QA M Y 2y dslihaa

min & Alwal) O Ly
A JLa g L dlay 3
Min Z = 4X;+ X2 + mA1 + mA;
S.T
31+ X2+ A1=3
4X1+3X2+ A2—L1 =6
X142X2+S:1 =4
X1,X2,A1,A2,L1,5120
Z Aslaa (B Laguaa i g AGN 3811 e Ay 9 J oY) 38N (e Ag dad 3ad 5
Min Z = 4X: + X2 + m(3-3X1 - X2) + m(6-4X1- 3Xz2 + L1)
=4X1+ X2 +3m-3X; - mXz + 6m —4mX:—3mXz + mL;
Min Z = 4X1 + X2 +9Im-7mXz - 4mXz + mL;
Min Z = 4X1- 7mXi+ X2 - 4mX2 + mL1 +9m
¢ puddl dgad) I 9M tasle Ciagdl Adla i pdial el Agad) SR a4 L6
MinZ = X1+ 7m = X2+ 4mXz - mL1=9m
S.T
3Xi+ X2+ A1=3
4X1+3X2+ A2—-L1 =6
X1+42X2+S: =4
X1,X2,A1,A2,L1,5120
AN Jgaad) B Adlwal) anlili &3y |7
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X1 X2 L A1 Ay S;
Z | (-447m) (-144m) -m O O O |9m
A; 3 1 0 1 0 0] 3 3/3=1
Az 4 3 -1 0 1 06 6/4=3/2
S1 1 2 0 0 0 1| 4 4/1=4
usShiand) 48y jha 8 dafial) Jad) Cpeund < ghd (i aii 8
min & Alwall o3
Ay s ZJAY peially Xp sa JANU el o))
ousliacal) 43y k(A A LS ighial) ad ciluaia) ad
(11/301/300 1) o 3uaall g sl dinal) i (1
R buall 7 dha o (2
(-4+7m) (-1+44m) -m 0 0 09m
(-4+7m) ( 1 1/3 01/300 1)
0 1+5m/3 -m -4+7m/3 0 0 4+m
A 38 o8 (3
4 3 -1 0 1 06
-4)(1 1/301/3 00 1)
0 5/3 -1-4/310 2
SN A8l 48 (4
12 0 0 014
(1)(11/301/3 00 1)
0 5/30-1/301 3
B Jod 08 Y
X1 X2 L, Ax A S
Z 0 1+5m/3 -m 4-7m/3 0 0 |4+2m
X1 1 1/3 0 1/3 0 o0 1
A; 0 5/3 -1 -4/3 1 0 2
S1 0 5/3 0 -1/3 0 1 3
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X1 X2 L A Ar S
Zlo o Y5 g/5m -1/5-m o0 | 18/5
Xt 1 o Y5 355 a5 o0 35
X2l o 1 3/5 43 35 o 65
Sli o o 1 1 1 1| 1

|

X1 X2 Lz A1 A S1
Zz|l o o o 7/5m -m -1/5|17/5
x| 1 0 0 2/5 0 -1/5| 2/5
X, 0 1 0 -1/5 o 3/5/| 9/5
Ll o o 1 1 1 1 1

G2 o s siaT Y Z a8 ABS 05 min (A bl
JiaY) Jall I llags o))

S iy Jall

X1=2/5

X2=9/5

Z=17/5

Ex: Solve the Following L P Problem by Big M method .
max Z=2X; +3Xz
S.T. X1+ X2, =6
X2 £8
Xi,X2 20
:
max Z=2X; +3X2 -mA:
ST. Xi+X.= 6 =6 -X:- X»
+ A
X2+S; 8

X1,X2,51,A1 20
max Z=2X; +3X2 -m(6 - X1— Xa)
= 2X1 + 3X2 - 6m + mX1 + mXz
max Z =2X; +mX; + 3X2 +mX; -6m
max Z -2Xi-mXi:-3X2-mXz =-6m
S.T. X1+ X2 +A1 =6
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X2+S5: =8
X1,X2,51,A1 20

X1 X2 A1 S
Z|(2-m) (-3-m) 0 0 |-6bm
A1 1 1 0] 6
Si| O 1 0 1| 8

X1 X2 A S1
Z| 1 0 3+m 0 | 18
X2| 1 1 1 0] 6
S:| -1 1 1 1| 2
oA Jia¥ Jall
Xi=0
X2=6

Z2=18
Ex: Solve the Following Linear Programming Problem by Big M method .
max Z=2X; +4X;
S.T. 2X1+< 6

2X1+4X;+S1=4
4Xx,

X: 1 B L +A =1
>

X1,X22 0

Xi—-Li+A; =1 A1=1-X1+L1
max Z=2X; +4X; -mA;
=2X1 +4X2 -m (1-X1—-L,1)
max Z =2X; +¥4X;-m+ mX: - mlL;
max Z =2X; + mX1+4X;—-m-mlL:
max Z -2X;-mX; -4X;+mlLi=-m

7 Cin
X1 Xz |.1 A1 Sl

-m 2#m)( (-22m -4 m 0 0)
1 0 -1 1 0)

S1 2 4

SN
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S1
X1 X2 L1 A1 S1
Z| o0 4. -2 24m 0 | 2 -(2400 14)
S1|(- 0 4 2 2 1] 2 2(10-11 0 1)
X1 1 0o 1 1 0] 1 042 -2 12
7 —aa
X1 X2 L1 A S1
Z| o0 0 0 m 1| 4 - (0 -4-22m 02)
X2| O 1 12 -1/2 1/4|1/2 4)( 0 11/2 -1/2 1/4 1/2)
X1=1 & Jia¥ Jall e [ da ga 7 cDlalaa ABIS )
X2=1/2 max & Z 41l gl
Z=4

Ex: Solve the Following Linear Programming Problem by Big M method .

min Z=4X; + Xz
ST. Xa+X2 =2
X152
X1,X22 0

min Z=4X; + Xz +mA;
S.T. Xi1+X2+A =2
A1=2-X1-Xz
X1 +S1=2

Xi1,X2,S1,A120
o Z=4X1+Xo+m (2-X1-X2)
=4X1+ X2+2m - mX1 - mXz

=4X:- mX1+ X2-mX2+2m

Z-4X1+ mX:-Xo+ mX2=2m

X1 X2 AAi & ‘
Z|-4+m “1+m 0 0 |2m
Arl 1 1 1 0| 2
Si| 1 0 0 1] 2

Xa X2 A




X2 1 1 1 0
S1 1 0 0 1| 2

N

7 Cia
(-44m -14m 0 0 2m)
(1-m)( 1 1 1 0 2)
-3 0 1I-m O 2
Aua [ Al 2 clalaa 481 o
max A Z 4l gl
oA Jia¥ Jall
X1=0
X2=2
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Duality Model of Linear Programming
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) Juail
Duality Model of Linear Programming 4shaid) 4w pll AUl o) Joliad) g3 gadl)
Duality of LP_4uail) daa ull 4LAY
Duality 45Ul zdgai Y Primal (1Y) 4badl) daa il zigad igad by el (b
Nl s3A Cag
o b 398U el dgal) dad 1
4X1+6X2 =-10
, - (laanall) 258N Glamy B ypdS Al 2 g8l dad) Agall Al 0 5eds 2
dald g LBy 5 akien 3 gl g il priall Cpa S dae <l Auhadld) Ao ) Jilwa Jad a DU B gl) 3
. pailal) aladiuly
el max gl Adlag cian AN ol 3 gl dayd) dgad) dad ddadld) daca jult ALY daa )
femal Baas ) 3 g8l COlalza g 3 581 anll il ﬁﬁ@mﬂu.&gi\ 3‘3\:@:\50\3 oaSally (usad) 9 min
ac) g8 389 i 3 gall) B L) IS g (s

m‘
max Z=3Xi+4X;
S.T. 2Xi1+5X; =£10....... Y1
6X1+8X, <£15.... Y2
X1,X2 20

C3

Gl Z\,.ul.ﬂ\ X3
min W =10Y:+ 15Y;
S.T. 2Y;+6Y, 23
5Y1+8Y, 24
Yi,Y2 20
(o Aaladiin) ALY 3 galll i) g8 (pa (1) 9 138 Dual (AU 3 gail) il piia A Yy, Y, O Eus
Yy 30 gal) Sl o 58 i) ) Al | Dbad) Judaty ddde (3lay LaS o) JiaY) Jadl 3ay La Julas

‘ . G.U*(_fb‘ W g
Dual J:&all z3galll ) Primal (A s¥) gasalll (s Jagadll aly (S prada o Aadlil) ALiaY) 2
Model

max <iagd) ks cuilg 1)
Jusad J (S) Ldle el 358l 43S ()9S5 () b max S 9Y) EAsadll ciagdl Adla el 1) D 4 1
. Dual (J:8all) AU zdsalll ) 3 gall)
(S) o Adigail (-1)* Cdhll G aid (2) 4ABDle <l 3981 aaf S 1Y) @
dgall cl paial) 3 L&) (<1 (<) 4Bl il iy Adladind Al (=) ABDe <)l 3981 aaf S 1Y) @
J¥) AN @l L) sy AEN ABY (5 sl g el
Al g pual (AsLl) Jilhal) 3 galll 4US a3y (<) N Primal (JsY) gisedl) 258 4818 Jigat 2y 2
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min el Aagd) ad0a
‘ (2) Gt 4580
Primal A% Gsym 398 damy Jildal) Gly.'d\ il yuiiia A2
Sl zigalll B 3ol eyl dgal) aal AgY) z3gaill ciagl) Ay clalaa
A i gall) B Ciagd) Adla Cblalae grmal (A oY) Zigadl) B 258l dad) dgadl
JiBal) 73 gall) B i ghia gl (A oY) 3 gadll 3 g8l B Saac )
Ex: Write the Duality of the Following Linear Programming .
max Z=3X1+6X2+ 7X3

S.T.
5X:1 +8X>-3X; 260
2X1 +9X2 + 10Xs <80
4X1+7X2+2X3 =70
X1,X2,Xs 20
g
Primal Dual
max Z=3X1+6X2+ 7X3 min W =-60Y;+ 80Y2+ 70Y3-70Y,
S.T. S.T.
-5X1-8X2+3X3£-60....Y1 -5Y1+2Y,+4Y3 - 4Ys2 3
2X1+<80 ...Y: -8Y1+9Y2+7Y3-7Ys 26
9X, + 10X; 3Y: +10Y2 + 2Y3-2Y,2 7
4X1+ 7X2 + 2X3 <70 ....Y3 Y1,Y2,Y3,Ys 20
-4X1 - 7X2 - 2X3 £ -70....Ya
Xi,X2,X3 20

Ex: Write the Duality of the Following Linear Programming .
max Z=6X1+ 8X
S.T.
4X1+7X; <10
2X1+X2 S5
3X1+5X2 6
Xi,X2 20
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Primal Dual
max Z=6X1+ 8X: min W =10Y1+ 5Y2+ 6Y3
S.T. S.T.
4X:+7X2 £10 ....Y: 4Y; +2Y,+3Y; 26
2X1+ X2 €5 ....Y2 7Y1+Y2+5Y; 28
3X1+5X; £6...Y3 Y1,Y2,Ys 20
X1,X2 20

min <& a1y s 1y

S (2) ABle cld 3 g8l ABIS (65 () il miin (A Y ZAgaill Ciagd) Ay il 1) A b1
Dual Jiliall zsalll I i gall) Jysas
(2) N sl (-1) @ Gkl qpk ald (<) ABle @) 2548l aa) IS 1Y @
dgall cl patiall 3 LAY (<1 (2) ABle ld Cpady Alladind abd (=) Ale cld 354l aa) IS 1Y) o
J oY) Bl il L) (S (A AR (g el g (el

Al g Dual ((AGl) Julball 73 gail) LS A%y (2) N Primal oY) zisail) 368 488 Jyga0 2y 2

maxc,uaﬁdé@.l\al\d °

(S) oot 250 o

A Zasaill 39 aaey A zdgall) < piie 2 @

Jhal) zigail) B 208l ial) Agal) aal AgY) zdgaill Ciagl) Alls cMlalas o
Julial) 73 gail) B Chsgd) ANy clalaa rmal A gY) zigaill B g8l el dgall e
AN Zigalll B Chigha mual AV Zigaill 398l A o

Ex: Write the Duality of the Following Linear Programming model .
min Z=6X1+7Xz
S.T.
2X1+3X2 210
5X1+8X2 <20
3X1+9X2 =30
Xi,X2 20
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Primal Dual

min Z=6X1+ 7Xz max W =10Y:- 20Y2+ 30Y3-30ya
S.T. S.T.

2X1+3X2 210 ...Y: 2Y1-5Y2+3Y3-3Y4 £6

-5X;: 2 -20 ....Y> 3Y;-8Y,+9Y3- £7
- 8X2 Y1,Y2,Y3,Y2 20 9Y4
3X1+9X2 230...Ys
-3X1-9X2 2-30....Y4
X1,X2 20

Duality 4wl

Ex: Write the Duality of the Following Linear Programming Problems .
1)
max Z=3X;+6X;+4Xs
S.T.
6X1+7X2+8X3s =210
3X1 +6X2+2X3 =20
8X1+2X2+X3 <15
X1,X2,Xs 20
1gal
(S) o 5580 dasal
S Bl (e A (g () s i s sxal) s (=) 455
(=1) * cdhall s (S) D Adigal aBy(2) 24

max Z=3X:1+6X;+4X3
S.T.
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-6X1-7X2-8Xs <-10 ....Y1
3X1+6X2+2X3 £20 ...Y2
-3X1-6X2-2X3 <-20 ...Y3
8X1+2X2+ X3 <15 .Y,

X1,X2,Xs 20

Duality 4Ll
min
S.T.

Z=-10Y1+ 20Y2 - 20Y3+ 15Y,

-6Y1 + 3Y>—3Y3 + 8Y,

-7Y1+ 6Y2—-6Y3+2Y,s 26

8Y1+2Y,-2Y;+Ys 24
Y1,Y2,Y3,Ys 20

23

2)
min
S.T.

Z =5X1+ 6X:

6X1 + 7X2

8X1 + 9X>

10X1 + X2
X1, X2

=15
210
<20
20

min
S.T.

Z =5X1+ 6X>

6X1 + 7X>
-6X1 - 7X2
8X1 + 9X;>
-10X1 - X2
Xi,X2 20
Z=5X1+6X;

215
2 -15
210
2 -20

L e

=

min
S.T.
6X1+ 7X2

-6X1 - 7X2

8X1 + 9X;

-10X;: - X2

X1, X2

215 ....Y1
2 -15 ....Y2
2 10....Ys
2 -20....Ys
20

Duality 4uill)

::23\
(2) o 28 ABS Sy gai

Ladaa) (€15 (2) G (1 (=) 258N Jagad oy
s B L) Cuay 4% e

(2) ) S8 Jygad (1) Qo e
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max Z=15Y;-15Y, + 10Y3- 20Y,4
S.T.

6Y1-6Y2+8Y3-10Y; S5
7Y1-7Y2+9Y3-Y, <6
Yi,Y2,Ys,Ya 20

Optimal Soluion for Dual 4Ll 73 saill JiaY) Jad) ala)

Jia) Jadl Jgan cilaslaa aladicd aly Vg, Yz, Y3, Z ad o) (of Aliil) £ gadl JiaY) Jadf sy
4l ALY B rida ga LaS (A g1 3 gall
Ex: Given below LP Problem and its optimal tabl .
Werite the Dual Model and its optimal Solution .
min Z=4X;- 8X;
S.T.
X1+ 2X> <4 e Y1
3X1+2X, <6 e Y2
Xi,X2 20

Jia¥) Jad) Jgan

X1 | X2 S1 Sz

X2|11/2 ] 1 1/2 | 0| 2
S| 2 0 -1 1 2
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:Jal)
p3gd g 13a | (S) LY odei 2@l NS, S, Uikl Uiy (uSlaaad) A8y e JNA (it
Yy Yp Led dniliill oy pieiia dllosal)
Yi=-4
Y.=0
W=2Z=-16
B AU zgaill Gl
max W =4Y;-6Y:
S.T.
Y1+3Y, 24
2Y1+2Y, 2-8
Yi,Y2 20
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QA&\ Juadl)
Transportation Models J&ill z 3
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Transportation Models Jiill 7l

5 Cuan A4S JB i) laal) cpn ) jaluma g Lgsb ) ccullua¥) B 7y aucy
_aUd\:\mbyuSﬁMgﬁdu\ Jilus 48 Lua

ikl 38 mDestinations

Maal) 48UaSuppl
D: D2 D3 ? PRy
(7]
(]
[S)
§ S Cu Ci2 Cis a1
A X11 X12 Xi3
j Ca C2 Cx az
e S
= X21 X22 X23
1 Ca1 Cs2 Css as
S;3
X31 X32 Xs3
bl 4sDemand b1 b, bs

O S
j;‘@éﬂ‘ )Jhdﬁdw $1,$,S3, ...
bl S 5e i Dy, Dy, D3, ...
jalhll S e i saad) e dill Glaes BiS XGj
jalhll K e (i aaall (e sas) sl sas ol Jaal) dalS Jias Cij
Si pladl ddla Jicdi 31,22, a3, ....
Dj Sl bl L8 B by, by, s, ...

- 3daa ke
1 2sandl s 1 Coall & 4l 5l G01a0) (11) Da j 3 senll s | caall By cld A1) i (ij) o
SSall Gl S ¢ gana o dlaall A8l g gena o5l (O ny @
Al
il Alall o3a 3 L1 il LS § gana (o S) ibiad) Zils eS¢ gene cilS 131
skt (a5l S el 13¢d allal) 2paS Cun D 4l o g (et g bl S je Jiay et 5 3 gac
= sl 3 gandl 138 LA S5 580 pall alla LS ¢ gana g jabiadl) A8l ¢ gana g (34
s Y ja g
o it laall dla CLaS § gana o S ST el bl S £ gane culS 13 Alls &2
Daeadl) Al o Cun S ol Gasiy by Saend slas Jla oed y Cia dilal Allal) oda
LA Sy pbaall 48U cilaaS 5 SIpall ks oS £ sana O AN (5 snii iaall 13g)
o s 4 a5 sbud Caall 1
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s bl sae aa g Jall Jile a1 3
Least Cost Method 4l & skl (1
North West Corner Method (s3Il ¢Sl slad (2
Vogel Method Jasé aslud (3
dahadll daa il (4

Least Cost Method 4418 J3i o sbuid

s Jad) & ghad
058 O e o A1 gha (0 Al 1) JATY Al 4531 g oy L1
) s £ gana = ullal) Cilyas
TURN by, 2 e Bl ya a AAIS JBT 3 AR Jpand g 2
allal) 3S) s Aqliad Lay plidiad aly o)) ) 138 g CilS JB] cld LYIAL) Jaad o5 3

Ex: Solve the Following Transportation Problem by Least Cost Method .
48lS 8] 48y yha aladiady 40N Jad) Al Ja

Destinations

D, D, D; Supply
3 4 1

S: ;96 /26
Sources S, 5 3 2 50
S5 6 7 6 80

230
Demand 60 90 _86—

saa 3

:Jad)
:Lu\)lo Al o
il oy 13 18 33s 5 80 () zlisy Dy Ol g 8K J8) LY saa g 80 < (1,3) lall Juasi 2y 2
332 520 ALl s 325 5 80 Sy (e Jlaiy D3 Slalial
LAl ol (1,1) el I Jais 1Al o jpieat &5 Dy 081 (2,3) Adda o Al e 8 cd el 3
Al Cus 8an 5 20 89 Sp (e (SLIL (1,1) Adad) Jass (g sl g AIL Gl gladia L3Y (2,2)
835 540 ALl g 335520 @ Dy s Sy b

57



Destinations

D1 D2 Ds
3 4 1
0
31 20 80 ;96 /2/0/
5 3 2
Sources S, 50/ 0
50
S3 6 ’/ 6 86 /20/ 0
40 40
60 90 _80—
40~ AT 0

32540 D, Slalin' ) S, i 50 s leleass (2,2) &lall ) a4

s el s Ll 8an 5 40 2 (3,2) Aal) Gl 5 3an 5 40 o Lelanis (3,1) sl U Jaw 5
Gl 81 e clalia) AS b

dall Jsan a5 Ml Jsoall Jans 6

From TO Xij Cost
Sy D, 20 20*3=60 140
Sy D3 80 80*1=80 150
S D> 50 50*3=150 290
Ss D; 40 40*6=240 240
S D, 40 40*7=280 280
LK K $ 810 10
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North West Corner Method (2 ad) (Jwedd) oS 48, 4k

: Jadl &) glad

A3 gia 0S5 Al 1) Allecal) 4330 3e o .1

Gh9 Jranill sy g J oY) agandl g oY) chall B dadl gl AL o) (1,1) AAN Jaaai Yl Ay L2

Al ae ) gl
(,A‘ Meﬂﬁjm (4 by CJhJ a1 sdaliga; J‘MM‘ Maﬂz‘éal C)‘J:‘S‘bla-‘:é'ﬁu 13 e
(2,1) 48801 ) (1,1) 4ad cad 2 ) 408
) S8 Aighy (war gubsbr siaigb ey 404 dﬂ*ﬂ"aieém O Sl by dad LS 1)) @

(1,2) 41aN () (1,1) ALal 5 ) glaal) 4311

(2,2) 4 ) Jiilig ay , by ssdalighy ey 4080 Jaenl ald ) = by Aad LS 1Y) o
. allal) 3S) e Agdlar La A8 o la) aly o) ) odle) 2o 681 (38 9 LDIAY Jaaad 1D a2y 3

Ex: Solve the Following Transportation Problem by North West Corner Method .

Sources D, D: D3 Supply
S1 > 4 2 100
S2 3 6 ! 50
. |2 4 5 60
Demand 40 70 100
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il

o Jii 5 40 (e 100 g ki s Aall o2 alalig s 5 40 laies (1,1) A Jreni oy 1
C
(1,2) & 3 slaal) Ad)

D1 DZ D3
5 4 2
S1
40 60
3 6 1
S2
10 40
2 4 5
S3
60
40 70 _1660~
0 0 60
0 0

06 50 ¢
56 A0 o
60 0

60 (30 70 & ki s Al 83 i 52n 5 60 s Lelanis (1,2) Al L) Jisss

50 J) (3 Clan 510 J) ki s Clan 5 10 o Lelani s (2,2) 4dadl ) Jaiw |
100 J1 ¢ Rl 230 ¢ty 53n 5 40 o elan (2,3) ol sl 28 1 i
b, 33 e S Uiy 325 60 = Lelenss (3,3) A ) s

From 0 Xij Cost
S D, 40 40*5=200
S D, 60 60*4=240
S2 D, 10 10*6=60
S2 Ds 40 40*1=40
53 D3 60 60*5=300

Al )l § 840

60

Jsas alats |

o Uk~ WON



Ex: Solve the Following Transportation Problem by North West Corner Method .

Destinations

D1 Dz D3 D4
1 4
S 3 5
2 6 4 6
Sz
5 1 1 2
S3
1 2 3 3
Ss
4 1 1
Ss 3
40 40 100 100
D: D2 D3 D4
1 4 3
S1
40 40 20
2 6 4 6
Sz
60
5 1 1 2
53 20 20
1 2 3 3
S
* 50
S 3 4 1 1
° 30
0 0 _80~  _80
200 30
0 0

100

60

40

50

30



From TO Xij Cost
S1 D1 40 40*1=40
S1 D2 40 40*4=160
S1 Ds 20 20*3=60
S2 Ds 60 60*4=240
S3 Ds 20 20*1=20
S3 D4 20 20*2=40
S4 D4 50 50*3=150
Ss D4 30 30*1=30
Total Cost $ 740

Vogel Method J» ¢8 44, )k

s Jad) < gad

e (89 ciua JS AN 10 S5 3 gas IS (A9 ciua JS (A Al jual 7okl L

fea JRI AQIS JB) )3 AGIAY) Jraad g (1) Sskadd) B RSN ) (i (58 S) SRS 2
bj , ai ad 5le)

Sua (g ghud dad Ciaal A Jgand) gl al) s 3

llal) 381 5 clabia) 488 WY a5 o ) o] cighdll [, < 4

Ex: Solve the Following Transportation Problem by Vogel Method .

Destinations

D1 D> D3 Supply
S1 > 3 1 60
Sources S, 6 4 2 30
2 1
S3 3 70
40 40 80
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al

5 3 1 o
60 |2
6 4 2 -
30 |2
3 2 1 7
70 |1

40 40 80

2] (1) (o]
1335005 i a1 3 ] 2 58 38 S el 18 (05 G LS) s 2
¥ Caall s (85 Legla () jlias
Js¥) caall ulaliig3aa 5 60 = Ledaniz (1,3) sl a5 A< J8) <l Al Jass 3
20 A 5l 60 < bs i

1 -
60 /60/0\] o]
30[2j
70(1]
40 40 30
(2] (1) 2
6 4 2 2 [2]
S R P
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833540 < 3 Al AN Jasty 3 S ga Y J5Y) 3 geadl RS ¢ 28U Gl gladll dad 4

JsY) 3 gaall dai g

4 2
10 20 |30 CE 2]
2 1
30 30 [ 1 ]
40 20
(2] (1]
L slaall cilaa ol UMAN Jea g Aslall < ghadll ai 5
D]_ Dz D3
S, 5 3 1 60
60
s, 6 4 2 30
10 20
5 3 2 1 70
3 40 30
40 40 80
From TO Xij Cost
S1 D3 60 60*1=60
Sz D, 10 10*4=40
Sz D3 20 20*2=40
S3 D1 40 40*3=120
S3 D> 30 30*2=60
Total Cost $ 320
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Vogel Method 4w i) Ja o8 43, jha

Ex: Solve the Following Transportation Problem by Vogel Method .

addiSources

Jasd A8y yh aladiiady 400l JAL Al Ja

ikl 38 wDestinations

D, D: D3 a3l @basSSupply
S: 2 > 1 80
S 4 3 2 70
2 4 5
Ss 50

60 80 60
llll cluspemand

65



D: D; D3
2 5 1
Ny Ex g X n iy AT LR
o BT BT T | w0 [}
o [ T [sool} e
50
0 46 ﬁ 0/[8‘]5 oﬂ
0]
1
JA il Jgaa
Lasll A [ oaall A8 | X A lhal) Ddadll
$20 2 10 Ds S;
$50 5 10 D S1
$60 1 60 D3 Si
$210 3 70 D> S
$100 2 50 Ds S
$440 NN
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Testing The Transportation Solution for Optimality
- A3
83,82, 81 isdall &daia e iy lall oda

Ex: Test for Optimality the Following Transportation Solution .

D: D> D;
S 3 4 1
50 50
S, 2 0 5
50 20
1 6 2
>3 80

rJad
U1,UZ,U3Q\)M\4LJM})J}L§§M\Q;S:\QES'AE (1
Vi, V2, V3 <&l il saac Yl
Cij = ui 4 uj Uabeall alasind JYA e vz, va , V1, Us, Uz, Up < il ad aas (2
e = yp Sy e = il asl (i

A 4d shiaall 8 dain e 5 AY) Gl el o o

3 4 9
Vi V2 V3
0O ui| 3 4
-4 U 0 5
-7 us 2

“Cij =Cij — ui {vj A Daleal) S (e Cij @l prciall a8 255 (3
ddana puall LA Cjj QS aladsialy el
C3=1-0-9=-g @ .

3 4 9 Cr=2-(-4)-3

0 1 =2+4-3=3
4] 2 C1=1-(-7)-3=1+7-3=5
71 1] 6 C2=6-(-7)-4=6+7-4=9
(N BN IR
d'".m\ E Jaldl o
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o) Jucadtl)
Assignment yamaidlll

N A A
Adl) s B2
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Assignment yavaiil)

Jale JSI Jue (anadl i Gl Gglad) 138 aladiad Al

In Case of Cost 4dlsll s 3 (1

s Jad) & ghad

G B glewal) ade Alla g BaacY) dde = dighuall 2o g Aay pe 48 huaall 0685 O g L1
L = dilaaal) dgandl g cial) 138 LMA 48IS 5 48 ghuaal) Alla own A gae g} Ciua AL

Dummy < 25axd) gl cial) \..AAUJQ‘_}\E,U

Jand) 138 adald (e ALl AR Jrad ¢ Jleadl Y Gawady of oS Y Jas dlia Gl 13 Ala B 2

00 = g3l Jalall ga

il b CaSl) Ay (i JS b A0S JB) 7l ok 3
Ayd\uédlﬁ\&wdwdsuﬁﬁsdg\cke& 4

439 ganl) g A88Y) Lo ghadl) he AiSan 230 B Jlhia) o (g gial
(6) Bsbddl N Al dusay g asadil) aid i ghuall aie = haghdll sda dae LS 1)
o) Al A8y e A ghadia yidl adll) (pe dad B 7 b Al Cighuall 23c # Jghdl) e Als b 6
L ghdl) adali b dad) gl) adhll 1) dahl) oda ddlia) g 4, ghaiia
Ex: Assign each job for each worker at minimum total Cost .
dSaa 481 8L g Jule ST Jue Ganad

JwsYJobs

J1

)2

I3

3 Al i giiall g Baesl) hadi oy 5

Ja

W; | 15

13

14

12

W2 |11

12

15

13

Jwl'\Workors
Ws |13

12

10

11

W | 15

17

14

16
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15 |13 | 14 l?_ 3 (1) 2 |0 3170712710 31061316
(12 |12 [ 15 |13 o)1 4] 2 010 1112 0101512
13 112 {10 | 11 312101 31]110}]1 21610610
15 |17 {19 | 16 113|012 1121012 0111011
Gighall das # hghill sae Gighall dae = Jaghdll aas

5 Workors Job Cost

W1 I 12

0 W, h 11

0 W3 )2 12

0 W,y J3 14

) aakl 49

Profit 7= ) A B (2
- Jall <l glad
O) Gua 43 ghiaall AUla G 3gae ) ia ABLLy Alld g SIS (4 a1 1) Aay o 48 ghiaall Jra oty L1
L Abghaall A Adad o) g glud ciliaall 3gand) ) Ciuall 138 LA
138 adal pa Alil) AIA) oy Ja ald Guva Joo Sladl godaion ¥ Jlaad) aa) dlia (S 13 2
. oha s bl Jard) aa Jalad)
b ghaal) bkl 4y (e A gheaal) B 3393 90 e uS) ki 3
3 5 shdl) (e 4RI ol ghd i 4
Ex: Assign each job for each worker at maximize total Profit .

L ol e e J8 amd

Jws¥obs
Ji )2 )3 I

W:| 8110]11

JwllWorkors W2(14112] 7
Ws(1213]10

Walog| 8|6

N |JO oo o
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10| 11 |6

12

8
14

12113 110 |9

b ghadll aas

G ghall das

)
olal3[2~]2
(a
2
'Y}
ol =|s|al=
o
%
(@)
k1234
48HHE
=
o
o
o
o
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Networks Analysis JwsY) <l

Cra () o 85 O g Al g g it Ayl jial) Ladi¥) (e Ao gana 4dly £ g el iy
Oadigall JB (o o jldial) A gan addiadi | ABlead) agdl b Ao ol &g jldiall pdigea G (e 22ay
O Agalie) ) el 4 &l jdige gl g daaall CBgll A £ g pdall Sladl Gladal cpla¥) g
sk

§ 9 pial) Lol 34T Ja 1

£ 9 hall Jlast) ASuli el ; Y
Gty clllad g Anil LI g Lal) Jalas
) g Aadiy) als
g9 miall (haidadl au

(]

Agllad o) Jalds Ot Ada Y a8
£ 9 el Iayhads ¢ Ll
daal) Al pass
GJAJ\ Jbeall Aaa) @
i) B gl (e B9 JS o Gaildl) lua o
£ s pdal) Janiia ¢ TS
Al £ g piall Aad e Lgi jlBa g Ada Y A8 e
W 3455 2 Jal) dadl) £ L) £ Ualinall a8 4 glaa
OSal o goall A padd cd g el Bl o cildlSay) JA5 o
A9 pobdial) ladads 8 aadiid o olad SUin
(CPM) Critical Path Method 7~ Jbwall ciglad |1
(PERT) Project evaluation and review technique g téal) anii g daal o cglud 2

Vol g pial) Lndidl ann y aly o) quag (S0 9 Aualid) WALy 3 Com sl JS1g
£ 9 sal) Al any
LLaL Jia | 4Ll sade g 4ylagl) ake Laa (liske £ g pdial) dadil (e Activity 4xllad o) Jalii J<

A
Q A / EETj

1 > 2

B2 L
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o JTEN

Jalial dgay jSuall ¢ ¢l = EETI

bladl el Alial) <8 gl = LET
LLadl el Saal) gl = EET]

LLad) il ALl cdgl) = LET]

Gl BT Y Bagad) S Y

R (:
_/ p

e Baial) Llgd iy oy udly S iy ¢ SS) g) ol o Y

A
1 2
B

4318 Sas) g Sakie Alglg bale Aoy iale Jay el callad 1)
Dummy < W 3ang 4sar o) daddl) aladia) aiy

1 (-
% \
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Ex: Consider a Project with the follow information .

Al any athaall | ao ldall aal A Cila glaall

oLty A8l ddally)
Activity Predessors
A —
B —
C —
D C
E A
F B
G B
H E,F
I G,D
J AH,l
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3

(CPM) _Critical Path Method 7z adl Jluall cigbud
Jeal) Al rpbeat) 138 dda) g3 Aty g A sliiall Jandadil dasiiial) cadlY) 3a) 54 CPM o sbedd
Sl 120 e 2l Al AN g Critical Path g )
AU Y daaall lgia) B W0 o g Al AaddY) e a8 oA Ll 4l z ) Jlasal) Gy g
. Eoal) Jad) ()
sy axdiey 7 Al leal) sl ¢
Bl g Al g Aol clbg) 1
sage <V LET, EET <yl f
Earliest event Time () s<aida & EET
Latest event Time () »<aida A LET

- A Lbiat Ma

EETi A / EET]
1 > 2
LETi \ LETj
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s LaS B gY) 03 ibadial ally g
EETi=0 } ASuEl b ke Js¥
LETi=0
EETj = max{ EETi+di} sse Jo
LETi = EETi &Jm\gjgﬁy\ e ll
LETi = min { LETj-Dij } Ay sial
(LETi = EETi) 48 (s sl (21} Jluall 585 7z Al jlesall dlay) |2
(EETj = LETj)
oRild g4 g Y g
Project Completion Time §.suall Jlady a U < gl a3
Aad) J<t B Y Julas 4
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o il (saal 40l il glaal
Ex: Given the following information for a project .
1. Draw the Project Network §.sdall 4Sud au
2. Find the Critical Path gz _aJd Jlwall 229
3. Find Project duration Time & s &all jladl 3 38 aa g
4. Analyze the Nodes Time ) cild gl Ja

L) A8l Ay Jlas JS ) <l
Activity Predessors Duration Time in days
A —_ 3
B —_ 4
C —_ 6
D C 2
E A 4
F B 5
G B 4
H E,F 6
| G,D 3
J AH,l 2
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Critical Path= B Fump Hemp Jmmpsa zoall Ll
Project duration Time = 17 days & gl jladl g

79
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SARAL J:‘;J‘” ial) Bakall A Badal) dilgs - r
Activity | s civity | N°9eS| EeTi | LETI | EET] | LET]
A 3 1-2| o 0 3 5 2 0
B 4 1-3| o0 0 4 4 0 0
c 6 1-4| o0 0 6 10 6 0
D 2 4-6 | 6 10 8 12 0 0
E 4 2-5| 3 3 9 9 2 2
F 5 3-5| 4 4 9 9 0 0
G 4 3-6 | 4 4 8 12 4 0
H 6 5-7| 9 9 15 | 15 0 0
| 3 6-7| 8 12 | 15 | 15 0 4
J 2 7-9| 15 | 15 | 17 | 17 0 0

diall el oY) Jula3 Analysis of Nodes Time

A0Sl duaildl) 8 8l a9 TF O Eua
TF = LETj — LETi — Dij

8l duaildl) 3 8l A9 FF Ol g
FF = EETj — EETi — Dij

(PERT) Project evaluation and review technigue !l anlis dxa) ya o glui
o Bl S Slady Aajy) 5 il cylaial ey s L8 AL 4il CPM wstud) 138 catia,
! b s BLAT JS o Al 8 A5 Gty g el Adai o Aled
c o4 Jang s Y (3l Most likely Time .1
b @A Jans AsWill (a3l Optimistic Time .2
a @A ey slldl) Gall Pessimistic Time .3
PERT sl aladin) il glad
Adalaal) cuea Sl g aliis IS mgﬂ\ ) o gia Gl (1
a=b+4C
d

ol

Adalaall Con Jal&S IS 8% e 3 cplidl) Gl 2
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a-b

v=—t— )
6

£ 9 diall A8 g
z Al ) sl

£ 9 dall Jlady 4ad giall 5 dl) sl
S2 Al luall dadil) bl £ gana g2 9 oAl slewall b Sl
Z 4y lal) Al alay)
a=b+4C

Z =

s/

A3 pda gy AN JUall g

Ex: Use PERT to Find the Critical Path , expduration Time , Variance of the Critical

Path and Value of Z if D = 15 Days .

Duration activity Time

activity Predessors | mos likely time | optimistic | Pessimistic
A - 4 3 5
B - 4 2 3
C - 5 3 6
D a,b 2 1 3
E b 5 4 7
F c 6 5 7
G d 4 3 5
H e f 3 2 4

81
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7

activity Predessors d \"
a - 4 0.11
b - 3.5 0.028
c - 4.8 0.25
d a,b 2 0.11
e b 5.2 0.25
f c 6 0.11
g d 0.11
h e f 3 0.11
4 6
9.8
f— g
4
13.8
7
13.8
h
3
10.8
10.8
) h = zoal Jbwadl &
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a5 13.8 = £asdall Jlady 4ad gial) 5_sdl)
$2=0.25+0.11 + 0.11 gl Jleal) ¢yl
=0.47
D = 15 ais 4y jLmal) 4agdl)
15-13.8
Z =
0.47V

=1.75

CPM 483k o Adileal) ilaland) aladinaly TF,FF 2l (Say 1 Adiadha

activity | Nodes Dij EEi LEi EEj LEj TF FF
a 8 0 0 8 8 (o)
b 0 0 4 10 6 o)
c 5 4 10 10 15 0 1
d 10
e 2
f 3 10 15 18 18 0 5

CRASH COST £ g 4all jladl ¢pajy Joaatll A8ISY) aladin)
4o DU Calsl) Baly 3o Wi g £ g pdial) Sladl 3y (auli o) £ g pdiall Sladl B yily Juaaill 44IS)) andid

LAl il gy AL Sl g £ g pdial) Adadid) [ cilillad Glad) Janacy
Ex: Find the Minimum duration Completion Time at Minimum Cost for the
fallowing Project .

Normal Crash
activity | Predessors | duration Cost duration Cost
A - 8 100 6 200
B - 4 150 2 350
C b 5 50 1 90
D a 10 100 5 400
E a 100 1 200
F c,e 3 80 1 100
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&) ghad

. gabie ) CB gl ua Slady) 4Bl g £ g pdall Sl 8 yib gz adl Jlewall g £ g pial) ASud a1

c G Agled [ Lalds 8 Jaal) 225 2

e Y) cB gl Guua A4Sl - Jaaal) o 44ISY

= Juall

Jarall gl - galisy) < gl

activity

Slope

50

100

40

60

25

-~ |0 Q|0 |T|Y

10

84

CC - Cn
Jsall Slope = —
Dn - DC

18

18

051 18 = £ g el Jlad) ()

a  degpsl

580 = 44l

g xS B JSFFY a5 3



FF = ESj — ESi — Dij
0&&&53@0335)&\)@\&9&43\3@\)& 4
Al Sl o ady g BLAI o
50 & bLil) Jua
HQQUﬁabmﬂst\dmo\&hﬂud g
odlef cila glral) 71 Adul g aw flami |5

16

16

a dmghpal) jlusal)

16 = dxia ) 5 il

680 = 580 + 50 * 2 = 44l
Jaa 91,35\1\ KX

FF=4 o) (Y ki alii 6 1l d paddialy 6
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a dw\j.«wd\

b C m)f mm)

as 12 = ol

240 + 680 = 60 * 4 + 680 = 4dll|

920 =

12

12



s gdal) Juadll
aﬁ*ﬁbﬁm&\ 5 jlaall
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Strategic Games Theory 4l i) 8) jlual) 4y a5

e
Al kidil) o) Sadde Point ¢l 4k 352 9 A A maxmin (min max) sbel aladi
b Jos

maxmin = min max
Ex: Find the Optimal Strategies and the value of Game .
Bl Ay iall cilial i) an gl
Player B <=3\

Bir B2 B3 Bs Min
AL | 8 -2 9 3| -3
«=MIPlayer /A2 6 5 6 8 5&m max
A; |2 4 9 5| -9
max 8 5 9 8

m B2, Az (& ial) sl u) o

V=5 8 kall dad
R IA B e N5 ud g A oS N gy Jiad A8 gheaal) 8 Al Lails 1 Aaadla
Ladla oy 13 ¢ A jlud (65 Jglay 4310 B e D) Lal gl g daly i 8345 Jglas A e
e s Az, Az, Ag bl A (e de garay A @3 qaly Eua 48 jhiasy Alwal) A8Lua
o adAudi .. Bs, Bz , By Jiad bl ) (1 s A) A8 garas caly B el
Cpe Jlia JiS) o) 8 pa Gllia ¢y 68y Ladie 4 jSaall g 4Ly JSLiial) 4 Lia B 4y 1)
LAl RS o) 5 g8l Lagla JS Jglang

: Ll
a9 9 ate Ala A da) ) 31 jleall Jilawa Jad (3o Bae dlia | o) 55 ddali a5 g ae s B
A9 O A

Analytical Method 4:biail) 4uaal) 48, ) 1
Graphical Method (Al aull 48y )k 2
Linear Programming 4zbill 4o ) 43y )b .3
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Analytical Method 4ulidail 43, )kl
Ex: Solve the Following Strategic Game Problem by Analytical Method .
4latanl) 48, plall aladiady A iud) 81l e Ja

Player B <>\

Bir B2 Bs Bs

Ai| 3 7 6 -1
«=MPlayeri A,| 2 5 4 6
As| 5 4q 3 2
As| 5 3 -3 4

s &) ghadl)
B 3l ol lgdie il Al clad) Aud) cdad
A Sz A9 s i A il i) cila dllisg
B0 1A Gidad Al A Ay, Ag 9 By, By bl i) o) Badl ¢ 2%2 48 ghuaal) A5 Cuay
48 giaal)
B: Bs
Al 6 -1 |X
Al 4 6 |(1-X)
1-X Juaialy Ap Lol i) g X Jladaly Ag doati) ud) caly A 3 o il
& 6X+4(1-X) = -X + 6(1-X)
6X+4-4X=-X+6-6X
6X—4X+X+6X=6-4

9X =2 =2/,

V = 6X +4(1-X) 31kl dad o

=6* 2/5+4(1-2/4) =40/,
B3, Ba, A1, Ay (iall bl i)
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Graphical Method 2 * m 4l a3 ball dad Sl a ) 48y 50
Ex: Solve the Following Game Problem by Graphical Method .
() an ) A8y gl aladiiady Al A AuY) 31 el Adles Ja

Player B <>\

B B2 Bs Ba
2 2 3 6 |X
4 3 2 3 | (1-X)

A
weMIPlayer
A2

s Ja)
1-X Jialy A, 4l ud) g X Jlaialy Ay 4 AuY) addicy A e o oo i
B A i A N dilad)
B: 2X+4(1-X)=-2X+4
B> 2X+3(1-X)=-X+3
B3 3X+2(1-X) =X +2
Ba 6X +3(1-X) =3X +3

X=1agX=0 s oasaily clig A J ailadl aca i
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’ bl & 4kl g maxmin Jiey JiuY) adaldnl)

% -X+3=X+2
3-2=X+X X = 1/2 »
1=2X
V=X+2 3 lall dad o
= .1/2 +2= 5/,
B2, B3, A1, Ay (el cbia) au)
Graphical Method n * 2 duasi) i) 31 jlal) Jad St a ) 48y 3
Ex: Solve the Following Strategic Game Problem by Graphical Method .
) a1 A8y jha aladiialy Al aud) 3 bl Adla Ja

Player B <=2\

B: B2

A1| 5 8
«=MPlayer.ia,| 6 5
As| 5 7

y (1-y)
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: Jal)

1-Y Jwialy B , Y Juaialy By Aot ) addiey B e o) G i

A 4 il B JI 3 ) dajd
A 5Y + 8(1-Y) = 8 + 3Y
A; 6Y +5(1-Y)=5+Y
As 5Y +7(1-Y)=7-2Y
\'} \'}
\3\- maxmin 1 ¢
l -
6+ /
34
2 ——
| [ 1
Y € > Y
0 1
@ minmaxdfme&f—y‘ bl
% 8-3y=5+y
8-5=y+3y
3 =4y y= 3/4 =

V=5+y Skl iad
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Bi, Bz, A1, Az (sliall cllad) )



e SUY Juadll
OB (a8 ghua

94



Queuing Theory JLiY) G ghua 4 45
oald (A3 S dpan) Ay B adgd g UL Lgsd aa gy (AN JSUa) B U  glea 4y BT aadid
s Ay Bl sda aladin) o JUag Jadill g z Uiy clles e zilil) JUSIY) Cpe Aalil) Cadasl)
il sl (8 Gl (e pdlad) iy g i Jagads
. ol pildal) 3 jalha g da g A gan
. Adlual) Jlas) dgan
. lbdlicall (e o pall 7oA g Jsia clles ddgan
A 38 yal) il pgd) cillana g V1A anans
A8 el 3l (2 Gauidl) cilles il
OF Wudany CANIAT ) g JUSIY) G glia Jilaa Jad aadied A1) dadaly ) z3ladl) cpe el a9
L zigal JS1, Al 8 daddd) cillaaa 3o g dadid) g J gua ol Adlaial) il 5 gl DA Cpa (anl)
(a/blc) : (dlelf) : 3l chg Al cuuan AY) Zisalll oo 0 jaay
fUs 9 Aaial) g sl S 138 AU ) Jga gl daad adiad) aaeil) ) e si: a
Jdsash aae S 13 g (G) A Sl ale 2358 S 135 (M) 4 Ja s Poisson dist. (gl s
. (D) A e il Jara Al
Exponential (ol &jsi o8 Alaia¥) g )il oS 138 dasdd) e )t Alaia¥) gl A San: b
A e ol Jama QS 135 (G) A e General als g S 19 (M) 4 S dist.
. (D)=
13) 9 (1)< L ausd Baaly daadll cibasa axe oS M8 Servers 4addll cilasa sae LA‘ BYS'RN ¢
. cldaaal) a2y g (C)er et S 2alg (a S
dUa IS 139 (GD)w 4 Jasms Yl axdy Vgl Gy a S 138 Aaxdl) B A0l 6Y) ) S s dl
. (Priority)s 41 Jan 49l
(00) & 4 Jam daaa e IS 1B U Cha 8 aglaad aUBH aodiicg 3 2l ) Sa g e
c(N) A e dsang
O \3!3 (oo)gﬂ}a# daa e G\ \Sgéetlaﬂ\ ‘_’J\ Ol jlaa L.S‘ J..\M\ega‘_,-“ BYS R i
- (N)@ A e 2ana
m/m/1 : GD/oo/oo JEIN) diua zigai |1

gJLAﬂAY\ &Jﬂ‘ & One Server 3aa) g dadd ddasa s ¢ 52 System ‘aw\ O el 249
) fils i Aaddd) a3 ()9 Poisson dist. (ofge) sall @ sil alall) ) J g gl dand
BN Cha b Slaall g) GalAdN) e ddaa @ 230 Jeady sl o) g Exponential dist

eﬁﬂ\ A Jsasl) aml jalddy) ) @hm.a addid dBaada
s zigadll 1 A daadial) jga )l
a : Number of Customers arrive adalll I (ulal gl 23

s : Service Vate Per Unit of Time () 3335 (4 4aadll Jara

oWk
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u : Utilization factor or probability that the System is buzy ¢ Juia) o) LN Jalra
J iuia allal
Po : Probability that the System is empty § b aUaill Jlaia)

P. : Probability that n Customers in the System aWaill & (alldN) (e n Jladal
XX

Ls : Expected Number of Customers in the System aWaill 3 (alddl) (e a8 giall )

Ly : Expected Number of Customers in the Queue i b (alliY) (1 28 giall a2l
Uy

W; : Expected Time in the System Ui chua (4 ad gial) cd gl
W, : Expected Time in the queue Y cia A a8 giall < gl

dadiiional) ¢yl 5il)

1. u=%¢ <1
2. Po=1-u
3. Ph=Pou"
4. I's‘u/l—u
5. La=u?/y _ 4
6. Ws=L/A
7. We=Lq/A

Ex: Consider a queuing System has one Server and can have unlimited number of
Customer in the System .
Arrival rate = 8 Customers / hour
Service rate = 16 Customers / hour
Find :
1. Probability that the System is busy
2. Probability that the System is empty
3. Probability that 3 Customer in the System
4. Expected Number of Customer in the System
5. Expected Number of Customer in the Queue
6. Expected Time in the System
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7. Expected Waiting Time

a = 8 Customers / hour
s = 16 Customers / hour
‘:’ u=a/s =8/16=0-5

1.u=0.5
2. Po=1-u

=1-0.5=0.5
3.P3=Pg *un

=Po * u® =0.5 * 0.5°= 0.0625
4.L3=u/1-u

=0.5/1-0.5 =0.5/0.5 = 1 Customer
5. Lg=u?/1-u

=(0.5)? /1-0.5 =0.25/0.5 = 0.5 Customer
6. W:=Ls /A

=1/8 hours
7.Wq=Lg /A

=0.5/8 =1/16 hours
m/m/1 : GD/N/eo SN hua i gai .2
Gsmil sal) @ sl iy Jgea s due ¢ Baal g dadd Abaaa o (g giay System Ul o dlld ay g
. GAAEY) Ga N Jeady alil) (81 ) @0 ot daadd) (e Gl el
dadiial) §ga )

a : Number of Customers arrive

s : Service Vate

u : Utilization factor

N : Number of Customers that the System can have
Po : Probability that the System is empty

Pn : Probability that the System is busy

Pn : Probability that n Customers in the System

Ls : Expected Number of Customers in the System
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Ly : Expected Number of Customers in the Queue
deff : effective arrival (Axdl) Jgasll Jina
W: : Expected Time in the System

W, : Expected waiting Time

1. u=9a/g

2. Po=(1-u/1-uM")

3. Ph=Po*u"

4. Py=Po* u®

5. deff=a(1-Pn)

6. Ls=u (1-(N+1) u™+Nu"*!) / (1-u) (1-u*)
7. Lq= L - deff/s

8. W; =L/ deff

9. Wq= Ly / deff

Ex: Consider m / m /1: GD/4/oc Queuing System, arrival rate is 8 Customers /
hour and Service rate is 16 Customers / hour .
Find :

1. Probability that the System is empty
. Probability that 3 Customer in the System
. Probability that that the System is busy
. effective arrival rate
. Expected Number of Customer in the System
. Expected Number of Customer in the Queue
. Expected Time in the System
. Expected Waiting Time

00O NO U1 A WN

a=8Customers /hour ,N=4
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s = 16 Customers / hour
% u=8/.=05

1. Po=(1-u/1-u"*)
=1- 0.5/1-0.5**' =0.5/1-0.5°> =0.51
2.P3=Pp * ul
=0.51 * 0.5*=0.063
3.Pn=Po *u"
=0.51 * 0.5°=0.03
4. deff=a (1-Pn)

=8(1-0.03) =8 *0.97 = 7.9

5. Ls= u(1-(N+1)uM+Nu™?) /(1-u)(1-u™*?)
= 0.5(1-(4+1)0.5*+4*0.5*1)/(1-0.5)(1-0.5%*1)
= 0.5(1-5*%0.5°+4*0.5°)/0.5*(1-0.5>)
=1.2
6. L = Ls - Xeff/S
=1.2-7.9/16=0.72
7. Ws = Ls /aeff
=1.2/7.9 =1.3
8. Wq = Lq /deff
=1.2/7.9=0.6

m/mlc : GD/oojoo JELN) dia zigal .3

. AR (e 0o allal) Jaadty g dasdl) Gl (¢ Ao g\gﬁq}ﬁﬁ‘ﬂu&ad}clﬂ‘ KT g&
c ) 2 aatls Aaaddl (el Gigmil gr @ sl i Jgma sl Jira G A

daditial) §ga )
Number of Servers 4aiill cillaas axe Jidi ¢ ()l 9 Adibaal) 7z dladll 2 S3al) Gl aadind
Coa) g8l

a = arrival rate

s = Serrvice rate
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u= a/s
Po=[Y5_1 u"/nl+uc/ c!(1-u/c)} 1 Probability the System is empty

Probability that the System is busy =1 - P

W N PR

P» = Probability that n Customers in the System
n=(u"/c"*cl) * Po

5. Ls = Expected Number of Customers in the System
=Lg+u

6. Ly = Expected Number of Custom ers in the Queue
= (u®?/(c-1)! (c-u)?) * Po

7. W;s = Expected Time in the System

=Ls/a
8. W, = Expected waiting Time
=L,/ a

Ex: Consider m / m /3 : GD/oo/oe Queuing System , arrival rate is 8 Customers /

hour and Service rate is 16 Customers / hour .
Find :

. Probability that the System is empty

. Probability that 3 Customer in the System
. Expected Customer in the Queue

. Expected Customer in the System

g b W N =

. Expected Time in the System

a =8 Customers /hour ,c=3
s = 16 Customers / hour
u= 8/,,=05

L. Po={E5zh w/nt +ue/ cl(1-ufc) [
£ ¥3h 0.57nl+0.5°/31(1-0.5/3) *
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= 0.5°/0! +0.5%/1! + 0.52/2! + 0.5° / 31(1-0.5/3) *
£1+0.5+0.125+0.02% * 7 1.65 * =0.6

. P3=(u"/c"*cl) * Py
=(0.53/333* 31) * 0.6 =0.0125
. Lg=(u®t/(c-1)! (c-u)?) * Po
= (0.5 /(3-1)! (3-0.5)?) * 0.6 =0.003
. Li=Lq+u =0.003 + 0.5 =0.503
. Ws=Ls/a=0.503 /8 =0.06
m/m/c : GD/N/oo 5N dhua zigai 4
ol gl

Po=[X52h u"/n! + us(1-(u/c)V) / c!(l-U/C)}'1

. Ph= [u“/n!*Po ...if0<n<c
u"/cl(c") *Po ...if0<n<N
. deff=a(1-Pn)

. Ls=Lg+deff /s
. Lg=Po * u®!/(c-1)! (c-u)z{ 1-(4/c)V¢ - (N-c)(4/c)MC (1-4/c)}
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4 Y JSliall lany Ja (B JUEY) C ghua aladlin)
Min. Total Cost 423 gia 4,18 481 JBj rigai .1

4818 B (glay oA AUAT LA ol AdW 73 galll 130 a

a . Total Cost = Service Cost + Waiting Cost
=c1¥s+c2*Ls
BN Cigiual (3) Zisal ¢ (1) pisad o Qsill 13 gaabig
b . Total Cost = Service Cost + Waiting Cost + Losses
=c1¥*s+c2*Ls+cz3*a* Py

L) i giual (4) zasal ¢ (2) Zisad o iRl 138 Gakalyg

0 RLI¥EN
) o) yaddll Service Cost : ¢
A o) addll Waiting Cost : ¢z
8 ludl) 44I<) | osses : c3

G U i il (e gall) aand a3 (pa g AlSial) Al o W g Ay o gAY i Gaadal g
L OSIRY JLER) o g alliS S o (day
Ex: Two repairmen are being consiering for attending machines . The First
repairman will be paid $3.00 and he can repair 5 machines per hour . The Second
repairman will be paid $5.00 and he can repair 8 machines per hour . machines
breakdown at rate = 4 per hour . if the Waiting Cost per machine per hour is $8

Find which repairman should be hired .

: Jad)

First repairman
a=4,s=5,c1=3,¢c,=8
Y Gisiial J oY) gigall) agle (gakalyg
TotalCost=c1*s+c2* Ls
=ufl-u,u=a/s=4/5
=4/5/1-4/5=4/5/1/5=4
+* Total Cost for the first repairman=3*5+8 *4
=15+ 32
= $47

Second repairman

a=4,s=8,c1=5,c=8

LY giial J oY) gagall) e (gakalyg

Total Cost=c1*s+c2* Ls
Ls=u/l1-u ,u=4/8=0.5
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=0.5/1-0.5=1
Total Cost=5*8+8*1
=40+ 8
= $48
48l JB) giay 43Y J oY) repairman J) e Bl 2l o

Ex: if The First repairman cannot repair more than 3 machines, Find which
repairman should be hired .

Ex: A company would like to buy a System Tow system are available with the
following specifications .

System 1

Service rate = 4 per hour

Service Cost = $50

=5

Number of Servers = 2
System 2

Service rate = 8 per hour

Service Cost = $100

Number of Servers =3
Jobs arrive at rate of 10 per hour and Waiting Cost is $100 .
Find which System to be bought by this Company .

Optimal number of Srvers  Liall daadl) Cillaaa d3c Al 2
AUl G g aladiuly dldg el deddd) cillasa dae Mgl qullaly JSUdial) (any A
TotalCost=c1*c+c2* Ls

5 JLTEN
Aaadl) cilbaaa a2t ¢
dandl) 48K | ¢
DU AdIS ; ¢,
uaiyy gﬁ é\gﬁ‘ dandl g
Ex: A company would like to hire a number of machines to perform jobs which
arrive at rate of 8 jobs / hour . The waiting Cost is $25 . Each machine can
perform 10 machines at Cost of $300 .
4l ol ghadl) as Jlpend) 130 Jad
1 = daddl) cllasa 23 i85 1
Total Cost=c1*c+c2* Ls O 9l Gk
Ls=u/l-u <
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m /m/1 : GD/wofeo alai 43y
Z\,,\SSS\ 44t<t) a9
\&chﬁjz:nh.&\a&“ns sasdi 2
m /m/c : GDJofeo () gb plssialy cilg o3 sl Gl (i
sllaadl Jial) aaml) a9 4RI JB]  Jaad A Aeddd) cillaaa a3 3
Optimum Service rate ;. Liall 4aadll Jaza day) 3
A ¢ D aladialy dllig s all Aasill Jona slagl ullaty JSUEAY (jany b

s =avc*a/c
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